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EFETHETRAOR
FRERERAOGIEAZEHZED) {I_'-I\*[H £E1 1 H 18 EE'E
BT 4 HH 5 £ it
B] i3 3m] ;28 AT 297 369 404 773
AER1TH 1,043 1,193 1,305 2,498
mAET2TH 1,218 1,106 1,430 2,536
A R T 2,269 2,351 2,576 4927
BEBRT1TH 521 532 588 1,120
B EET2T H 407 425 476 901
B ERI3TH 314 359 346 705
BEBRT4TH 530 498 533 1,031
B EBRTSTH 846 930 946 1,876
I ER6TH 363 398 421 819
HiF = HT 534 620 654 1,274
45 KHT 451 523 545 1,068
HHT 1,002 1,140 1,258 2,398
BEHT 59 61 68 129
A K BT 629 743 750 1,493
7 HT 433 449 462 911
RICET 477 520 553 1,073
FORHET 197 210 225 435
RFHT 217 225 253 478
KHET 372 349 401 750
KET1TH 228 253 287 540
XKET3TH 289 338 322 660
KET4TH 887 833 1,058 1,891
fit] LLI BT 2,335 2,774 2,877 5,651
JE LT 968 1,122 1,234 2,356
EHERT2TH 208 447 440 887
EHERISTH 427 546 549 1,095
EHERT4TH 362 431 474 905
EHERSTH 328 386 461 847
EHERT6TH 214 281 266 547
EHERT7TH 159 238 240 478
=Y:i 330 354 402 756
8 [F T 1,587 1,482 1,735 3,217
=i ET 500 546 622 1,168
2l 3t BT 476 624 581 1,205
N =15 96 116 123 239
+HEFRT A 656 665 727 1,392
L EFHTER 861 765 870 1,635
L HAET 2,111 2,358 2474 4,832
LFH¥ABT1TH 74 123 121 244
LH¥\ET2TH 156 161 183 344




BT 4 HH 5 £ i
LFEI3TH 151 151 176 327
L¥AET4 T B 155 165 202 367
LHABTS T B 209 273 291 564
I == HT 214 219 252 471
JOSFET1TH 535 527 568 1,095
Mn=rET2TH 551 547 567 1,114
JO=fET3TH 421 435 412 847
M=rET4T H 1,109 1,131 1,173 2.304
I S5k T 588 610 679 1,289
I=F5di) 233 226 267 493
Jt B BT 30 39 40 79
E[d:) 419 382 374 756
478 = HT 793 925 985 1,910
FHRHET 77 90 98 188
1 2 FF T 372 433 472 905
BEFE1TH 86 107 114 221
BEFE2TH 282 336 342 678
T EHT 129 147 149 296
/A BB T 3,061 3,176 3,397 6,573
1R HT 263 297 309 606
YEZF HT 738 751 802 1,553
EXBI1TH 269 243 285 528
=/ LLIHT 237 175 134 309
Hh ek HT 28 28 6 34
T A EHET 10 12 10 22
THHEE1TH 711 689 747 1,436
THHEE2TH 527 580 565 1,145
THHEESTH 750 749 875 1,624
TEHE1TH 193 196 188 384
TEHRI2TH 807 767 889 1,656
T¥HEI3TH 164 171 177 348
TEHRI4ATH 81 82 87 169
TEEI5TH 240 246 269 515
T HAET 666 699 738 1,437
TET1TH 355 361 373 734
THAERT2TH 454 454 478 932
TH¥BISTH 199 203 239 442
TET4TH 155 153 182 335
HTAEHET 22 21 9 30
ikl 194 190 197 387
#8)11 BT 43 47 55 102
KT HT 301 324 352 676

e K HT 1,699 1,770 1,920 3,690
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HEZ HH 5 £ i
FSIED 261 322 323 645
XLAT1TH 859 840 999 1,839
XLAT2T B 303 335 357 692
X#ILET3TH 151 161 168 329
1 [ BT 49 66 80 146
hHET1TH 362 389 422 811
hHET2TH 454 488 535 1,023
hHBEI3TH 435 516 529 1,045
niEld:) 254 252 287 539
th 2 JEHT 236 224 264 488
ch T 129 135 170 305
FRAHT 746 873 885 1,758
At A ET 879 924 1,055 1,979
75 K ERET 780 994 1,014 2,008
75 2 [N HET 1,665 1,864 1,990 3,854
A 792 775 885 1,660
SFHEAT1TH 538 475 550 1,025
SFHEAT2TH 403 393 457 850
$FHEAI3TH 208 230 235 465
| BT 427 484 511 995
YHET1T B 372 475 488 963
HET3T B 353 400 438 838
HET4 T B 118 113 142 255
J\ & T 986 1,099 1,153 2,252
J\HHT 168 216 223 439
+ A ERT 273 327 362 689
T A HT 2,229 2,326 2,461 4,787
THB1TH 22 21 19 40
T4HB2TH 1,447 1,393 1,377 2,770
T4HBI3TH 194 181 182 363
THHB4TH 378 312 384 696
T4HHB5TH 949 705 974 1,679
T4HBI6TH 219 238 266 504
THRI7TH 347 393 433 826
T4HBISTH 384 417 431 848
THRBOTH 386 459 514 973
T4B13TH 298 344 383 727
AR NBHT 1,943 1,734 1,991 3,725
HARRHET 1,346 1,275 1,272 2,547
HEARK/ERET 284 377 394 771
HEARICEHT 161 171 184 355
ZFARKEHET 131 123 135 258
Z AR hHET 202 230 263 493
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HEZ HH 5 = 5
FHARAKHET 437 463 497 960
H AR EHT 320 353 395 748
EHARE)IIET 283 276 301 577
e N=TN ] 111 125 137 262
FH AR JTHT 98 94 111 205
EARERHE 659 571 659 1,230
B K BRHET 388 410 403 813
Edai) 890 919 1,031 1,950
BEFET1TH 769 759 772 1,531
BEIFRI2TH 595 610 690 1,300
BEFETST H 345 414 414 828
AIFTET1T B 425 383 441 824
AIFTET2T B 585 610 668 1,278
AIFTET3T B 593 704 738 1,442
A HT 188 215 201 416
H_LH 214 277 297 574
NEL] 812 825 895 1,720
ERL 711 900 909 1,809
= HHT 1,716 1,974 2,066 4,040
HEXHRET1TH 568 641 667 1,308
HLIRET2TH 526 627 657 1,284
HLAREISTH 299 386 378 764
P fx T 321 387 407 794
mLERI1TH 1,159 1,127 1,307 2,434
mERI2TH 836 959 1,078 2,037
FA T 1,338 1,401 1,597 2,998
= RITET 529 516 556 1,072
= AHT 356 287 358 645
AR#HT 10 9 4 13
=) 499 584 545 1,129
SHA1TH 705 647 811 1,458
S HHET2TH 397 437 467 904
aHEI3TH 854 766 937 1,703
S HET4TH 774 670 885 1,555
E& T 2 2 0 2
J\BRET1TH 202 268 265 533
J\BRET2T B 240 254 234 488
J\BRET3T H 238 291 298 589
1T HT 292 436 425 861
FHEIBRT1 TH 141 167 176 343
FHaEIRT2TH 297 427 458 885
FIaTET3T B 11 25 16 41
ENOER1TH 0 0 0 0
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BT 4 HH 5 = Eil
EOER2TH 0 0 0 0
EOER3TH 18 17 1 18

=N 87,914 93253 | 101,021 | 194,274

5.5



